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1. Aufgabe:	Bestimme den Hauptnenner mit Hilfe der 
			Primfaktorzerlegung.

	a) kgV (35bc , 55b)

35bc = 5·7·b·c
55b  = 5·  b·  11
kgV  = 5·7·b·c·11 
kgV  = 385bc
	b) kgV (15ax , 45ay)

15ax = 3·5·a·x
45ay = 3·5·a·  y·3
kgV  = 3·5·a·x y·3
kgV  = 45axy

	c) kgV (25ab , 45ba)

25ab = 5·5·a·b
45ba = 5·  a·b·3·3
kgV  = 5·5·a·b·3·3
kgV  = 225ab
	d) kgV (60def , 15des)

60def = 2·2·3·5·d·e·f
15des =     3·5 d·e·  s
kgV   = 2·2·3·5·d·e·f·s
kgV   = 60defs

	e) kgV (150de , 15d)

150de = 2·3·5·5·d·e
15d   =   3·5·  d
kgV   = 2·3·5·5·d·e
kgV   = 150de
	f) kgV (66gh , 33ghi)

66gh  = 2·3·11·g·h
33ghi =   3·11·g·h·i
kgV   = 2·3·11·g·h·i
kgV   = 66ghi



2. Aufgabe:	Bestimme den Hauptnenner mit Hilfe der 
			Primfaktorzerlegung.

	a) kgV (18ac , 9bc , 24a)

18ac = 2·    3·3·a·c
9bc  =       3·3· ·c·b
24a  = 2·2·2·3·  a
kgV  = 2·2·2·3·3·a·c·b
kgV  = 72abc
	b) kgV (7ab , 28ac , 49cb)

7ab  = 7·      a·b  
28ac = 7·  2·2·a·  c
49cb = 7·7       b·c
kgV  = 7·7·2·2·a·b·c
kgV  = 196abc

	c) kgV (25af , 30za , 75az)

25af = 5·5·    a·f
30za = 5·  2·3·a·  z
75az = 5·5·  3·a·  z
kgV  = 5·5·2·3·a·f·z
kgV  = 150afz
	d) kgV (50efg , 25efh , 5h)

50efg = 5·5·2·e·f·g
25efh = 5·5·  e·f·  h
5h    = 5·          h
kgV   = 5·5·2·e·f·g·h
kgV   = 50efgh

	e) kgV (120mn , 15m , 3mn)

120mn = 2·2·2·3·5·m·n
15m   =       3·5·  n
3mn   =       3·  m·n
kgV   = 2·2·2·3·5·m·n
kgV   = 120mn 
	f) kgV (77km, 44kmn, 11mn)

77km  = 11·7·    k·m
44kmn = 11·  2·2·k·m·n
11mn  = 11·        m·n
kgV   = 11·7·2·2·k·m·n
[bookmark: _GoBack]kgV   = 308kmn
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